EHNewSouth

WINDOW sowurions
-

4901 Oak Fair Bivd. Tam pa, FL 33610

eVantage
Double Hung Window

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building

Code (FBC) structural requirements excluding the "High Velocity Huricane Zone" (HVHZ).

See the Cerlification Agency Certificate for sizes, specifications and ratings.

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
fo base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the
FBC.

For 2x stud framing consiruction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Vertical & horizontal cross sections

Vertical & horizontal cross sections

Buck & frame anchoring

Components

Bill of materials and glazing details

OO WO INS | =

75" MAX. OVERALL

FRAME HEIGHT

MAX. OVERALL

54“

FRAME WIDTH

7
VA
/
Va
- —
a

+45.0

40.0" X 63.0" 33.13"X 275" G1 -45.0 STANDARD
440" X 75.0" 37.13" X 33.57" G1 +40.0 -40.0 ADDITIONAL
540" X 75.0" 47.13" X 33.57 Gl +35.0 -35.0 ADDITIONAL

-

g3 %%&3

(i s

REB s\ &

3-5 83,

6 885 BE\E

gggr‘a ?

g 3,585 ‘v

ER2cd: 8

} S i 7
g@ £d

2

51

5| &=
| Sz
=| 3d
2 §|E%

2 %S»‘s

. 2198
xlghn

] =[50
goOlF -
&

%I

S

(2]

]

o

p

8

3

=

foare: 3/19/12
fscue:  N.T.S.

fowe. BY: JK

CHK. BY: LFS

|DRAWING NO.:
FL-15378.8

SHEET _1_OF 6

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1651\D. RWBC Drawin S\FL-15378.dwg, FL-15378.8

© 2012 R.W. BUILDING CONSULTANTS INC.



>
0 [ Jg
ﬁ am \3
£" 18 %
NOTE 'EEE fg .g.
1. Item "L" Blind Stops secured with item "J" located g 13:5 § N g
2.0" from each end and a maximum 8.0" o.c. g E?,_ i% o
. gaﬁ g'g %
080 |\L=
2§z *
seNOTE 1 (J) IELIERNE
=An0
FRicds f
2 g %% 3
oo ¢
ACLL
= 2
a 2y
= S
= NS
= =
SO
Q | T
Z |5 %]
ol I
7 28
1-1/4" MIN. = |8 3%
B. (TYP. G =y
EMB. (TYP.) Bl 8 |8 E
(m]
g |
&
0@ 13 REINFORCEMENT
STANDARD: Always required
ADDITIONAL: For width > 42; "
For height > =
ADDITIONAL (13 =) 0 S
@
32 2 L i
SEENOTE 1( J ] Cc g
] z
B s g
[
g |z
4 |2
EXTERIOR o _:4_' :i - .I-Iv I.'ﬂ' : .- ? -'Iq. ) ) DATE: 3/19/12 %
§ TS y 5 ScAE:  N.T.S. g
q .v-_q_lq : o I-.-v-q. !:/ 1DWG. BY: JK m'
S B 2= o . LFS |2
S |oRAWING NO.:
(_1"\ HORIZONTAL CROSS SECTION D VERTICAL CROSS SECTON = = - toms |2
\\2_/2)( Suick Masarry: Construction 2X Buck Masonry Construction T a o
sweer 2 oF 6 |g




= (W)seznoe ¢ ¢ U
/ ¢8 2o N
/ o~ ®/ D comow DOO N Y )
y e @ INTERIOR ADDITIONAL For widih > 40° 533 32 My
(1 Vo For height > 63" g%‘sio Jn
NEI . faop i
/ o £ ﬁm 'E T kel
// - > |}ﬂ 8 2 o E
/{ L T TN 2 ! %gg 35‘ f
— - G W §2958, V¢
Y ey [ ] NOTE 13 g 82 8
J : 1. ltem "L" Blind Stops secured with item "M* or 2 %g 5
Vi e "N" located 2.0" from each end and a £ £3
/ i
X 7 i i maximum 8.0" o.c. g
/ R I
_ Il 2
4// r s| .,
/ D 5 < =, = o=
AT (M| W = | =R
5 S rn‘l 8
ol =
% 1-1/4' MIN 4 (g 32
; B |4 =S
EMB. (TYP. p
) 5 8 [¢f &
(=]
| ks
/ 1"\ HORIZONTAL CROSS SECTION INTERIOR
WShown with 1X sub—buck E
Gl 9
EXTERIOR 5 ) INTERIOR
(7p] |
ADDITIONAL(13 g
ol
2 L SEENOTE]
@D\ /®SEE NOTE 1
5% o I o
a '. ; . - qq_.v . 9 -
f 4 2
§§ f‘--_-§ oaTE: 3/19/12
.= (3 "\ VERTICAL CROSS SECTION . s ”-Tj('
2\ VERTICAL CROSS SECTION o A T
W Masonry sil SRR 75
FL-15378.8
SHEET _3 OF _6

@ 2012 R.W. BUILDING CONSULTANTS INC.



RA\A - Projects\Project Folders\Proj 1601 - 1700\PF 1651\D. RWBC Drawings\FL-15378.dwg, 4.8

|

g

e 9 TYP.
2X SUB
BUCK N
MASONRY
owsmme_\—W

el

&
(TYP.)

&) —] t;-

2X BUCK ANCHORING

CONCRETE ANCHOR NOTES:

(TYP.)

v
;.-f:-,:_:/ (TYP.)
= — =
— g
i TYP.
2X SUB J
BUCK
FRAME\
MASONRY |
OPENING
g A
— TYP.

_{

nE
o 1X SUB
} BUCK
1
a FRAME
=4
J
O MASONRY
g OPENING
o
NE

A

FRAME ANCHORING

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted o maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

mw /4" 1-1/4° 2-1/2" 3"
ELCO /8 1-1/4° L &
mw 3/16" 1-1/4° 2-5/8" 2-1/4"

TR T i ‘ =
8"MAX O.C. (TYP.)

ZI
h-.: 3 | :/ mp-}—l—— |
S T N I }
TYP. "l
L "E
| I Y
.
o
£
J
o
DIRECTTO g
MASONRY E
1X BUCK =
o™
TYP. £

S EE |
Gl T

=
L—-—L 8"MAX O.C. (TYP.)

FRAME ANCHORING

1XBUCK

.. o
[+ E -
2", .58 N
.E oW Mg
§3§—3 i
".l"%u‘g o
3>8 88N ¢
. 582 BENE
|& oo 3
sgéz's%

o .
35655‘6 I:
,,{3&{8% s
g g o
A
12

3
S W
s | B
. EE
ER
o S
o =| ¥
o S=
L
. S
o
L
(=]
|2
&
v
z
O
7]
g
u
2
p
= ¥
8 |3
Sl |6
oATE: 3/19/12 g
SCALE:  N.T.S. g‘
DWG. BY: JK o
CHK. BY: LFS 2
DRAWING NO.: ﬁ
FL—-15378.8 5
s;méori IS




AN SLNYLINSNGOD aMNiaing "'m'dy 2 L0Z2 @

60¥CF "ON_"3'd “IPIUYOS 4 uopuky SNOISIAFY
—= sy ﬁ¥ SINANOWO) g 30 ToNf o | Lol 2|
S e RS 30 T NENEEE
LE6LE'6S9'CLE "ON ®uUOyd S m — 5_
S69EC "4 OOMIDA 07 o8 o:m\h\gm, MOGNIM ONNH 378n0a W& &g |,
"ONI "SINVLINSNOD ONIATI i w 3 M vl
:Ag_peJode.d sjuewinoog +12NA0dd mlll..m M o %
56| ————=
i
: : I/
=
W .
g
&
@
Q
[~ 280 2 oD =
g oy .
- LTGE s T 3 3
4 | * ® ) =
bL5°0 - &
& o
3 e
< _ V 1 ﬂ @

[ (G Q IM *
* b | g
r_l } o m o m
. ° Y8 |
= 0 _Al._a_l
s
F 1| = e
E = ® g
= ; -~ S & 2
% @ S6'1 |i:. E :
m — 560 —

217

|

r

J
0.06" —={ [=—
~— 1424
,
J
0.07
-
@ TOP RAIL
1.45"
—— 085"
0

o TOP SASH STILE

| ———=

—==—0.06"

3.83"
]
S¢c

@ EXTRUDED VINYL FRAME
S
i
_1'
!
T

a = ._8.0
&

LOCK RAIL REINFOCEMENT

REINFORCEMENT
KEEPER RAIL

! 0245

@

f———————— 91FT W8E0 1




BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A [1XBUCKSG >=0.42 WOOD
B | 2XBUCKSG >=0.42 -
C  [1/4"MAX.SHIM SPACE STEEL
D [1/4"X2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
£ |MASONRY -3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F |#8X2'PFHWS STEEL
J | #9X1-5/8"PFH WS STEEL
L | 3/4" X 3/4"BLIND STOP WOOD
M | 3/18"X 2-1/4" PFH TW CONCRETE SCREW STEEL
N [ 3/16"X 2-3/4" PFH ITW CONCRETE SCREW STEEL
P [1/4"X2-3/4"HH ELCO OR ITW CONCRETE SCREW STEEL
1 |HEAD- 441F* PVC
2 [ SILL - 442F* PVC
3 | JAMB- 443F* PVC
4 | TOPRAIL - 414* PVC
5 | BOTTOM RAIL - 427* PVC
6 | LOCKRAIL - 424* PVC
7 | KEEPER RAIL - 423* PVC
8 | TOP STILE - 408* PVC
9 | GLAZING BEAD - 448* PVC
10 | GLAZING SILICONE (SashSeal) B
11 | LOCK RAIL REINFOCEMENT - 452 ALUM
12 | RENFORCEMENT - 454 ALUM.
13 | RENFORCEMENT - 458 ALUM.
14 | KEEPER GLAZING BEAD - 449* PVC
15 | BOTTOM STILE - 428* PVC
20 |LIQUID APPLIED DESICCANT (SashDri) "

21 | KEEPER - TRUTH #C41275 -
22 | LOCK ASSEMBLY - TRUTH #A30700401 -
30 | CENTER FIN PILE - .187 X .190 -

31 | CENTER FIN PILE - .270 X .220 -
32 | FOAM SEAL - BOTTOM RAIL - AMESBURY #32692 -
33 | FOAM SEAL - TOP RAIL - AMESBURY #32012 -

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED
BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

1/2" GLASS BITE —{==

|

3/4" O.A, GLASS THK.

1/8" ANNEALED GLASS

A\

; AIR SPACE
=

1/8" ANNEALED GLASS

C :) GLAZING DETAIL

5
1] [ .
: mg
1R
UL
5%55532?5
a’.“'!iﬁ $
4
Eéﬁsesﬁ\'
HEGE T
=m§§ 5
A
8
= i
=
(o}
e | B
< g|§z
Loy (L]
LB |43
8 g |8 ™=
(=]
(]
2 |Z
&
2]
=
)
%)
cf
L
=
o
=
foare: 3/19/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15378.8
SHEET _6 oF _6

© 20712 R.W. BUILDING CONSULTANTS INC.



